	[image: image43.png]cbseﬁguess




	http://www.cbseguess.com/



Sample Paper – 2009

Class – XII

Subject – MATHEMATICS

Time allowed: 3 hrs
M.Marks:100
     General Instructions:
[image: image43.png]      neral Instructions: 
SECTION – A
(1 mark each) 

1.
Let * be a binary operation defined by a * b = 2a + b – 3. Find 4 * 5 .
2. 
If
[image: image1.wmf]4
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, write the value of x + y + xy.
3.
Find a matrix X such that B – 2A + X = O, where A =
[image: image2.wmf]ú

û

ù

ê

ë

é

=

ú

û

ù

ê

ë

é

-

1

3

2

-

0

 

 

B

 

and

 

1

3

3

5

.

4.
If A is a square matrix of order 3 such that 
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 = 64, find
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5.
Construct a 2 
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 2 matrix whose elements 
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6.
Evaluate
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7.
Evaluate 
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8.
If
[image: image12.wmf] 

b

 

.

 

 

a

 

find

  

,

 

25

 

b

 

 

 

a

 

and

  

13

b

  

;

 

5

=

´

=

=

a

.

9. 
The cartesian equation of a line AB is
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. Find the direction cosines of a line

 parallel to AB.

10.
If
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, find a unit vector parallel to the vector 
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SECTION-B
(4 marks each)

11.
Show that the function f: R 
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 R defined by f(x) =
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 R is one-one and onto function.


Also find the inverse of the function f.

12.
Using properties of determinants, prove that 
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OR


Solve for x :
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13.
Prove that 
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OR


Solve for x:  
[image: image22.wmf]2

sin

2

)

1

(

sin

1

1

p

=

-

-

-

-

x

x

.   Hence, verify the roots.

14.
Let f(x)=   
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 EMBED Equation.3  [image: image24.wmf]

If f(x) be a continuous function at x = 
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15.
If
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OR


If y = [log(x + 
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16. 
Find the intervals in which the function f(x) = sin x – cos x ; 
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(i)  is increasing   (ii)  is decreasing.

17.
Evaluate   
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            Prove that  
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18.
Solve the following differential equation: 
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19.
Find the particular solution of the differential equation 
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when x = 1.

20.
If 
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21.
Find the shortest distance between the lines 
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22.
A box contains 12 bulbs of which 3 are defective. If 3 bulbs are drawn from the box at random, find 


the probability distribution of X, the number of defective bulbs drawn. Hence compute the mean of X.
SECTION-C
(6 marks each)
23.
Given A = 
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, find A-1 and hence using A-1 solve the system of equations



x + 2y + z = 4;      - x + y + z = 0;       x – 3y + z = 2.

OR

 
Using elementary row transformation , find the inverse of the matrix 
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24.
A point on the hypotenuse of a triangle is at a distance a and b from the sides of the triangle. 


Show that the minimum length of the hypotenuse is
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Show that the rectangle of maximum perimeter which can be inscribed in a circle of radius a is a square of    

         side 
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25.
Evaluate. :  
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26.
Using the method of integration, find the area of the region bounded by the lines 2x + y = 4. 


3x – 2y = 6 and x – 3y + 5 = 0.

27.
Find the foot of the perpendicular from the point P (1, 2, 3) on the line 
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Also, obtain the equation of the plane containing the line and the point (1, 2, 3).

28.
An aeroplane can carry a maximum of 200 passengers. A profit of Rs. 400 is made on each first class


ticket and a profit of Rs. 300 is made on each economy class ticket. The airline reserves at least 20 seats


for first class. However, at least 4 times as many passengers prefer to travel by economy class to by the first    

         class. Determine how many of each type ticket must be sold in order to maximize the profit for the airline. 

        What is the maximum profit? Frame an L.P.P and solve it graphically.
29.
For three persons A, B and C, the chances of being selected as manager of a firm are in the ratio 


4: 1: 2 respectively. The respective probabilities of them to introduce a radical change in marketing 


strategy are 0.3, 0.8 and 0.5. If the change does take place, find the probability that it is due to the 


appointment of B or C.
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Paper Submitted by:

PRASHANT KUMAR 

Email prash11677@gmail.com 

Phone No.  0096892806084 

(i) 	All questions are compulsory.	


(ii)	The question paper consists of 29 questions divided into three sections – A, B and C. 


	Section A comprises of 10 questions of 1 mark each; Section B comprises of 12    


            questions of 4	marks each and  Section C comprises of 7 questions of 6 marks each.


(iii) 	There is no overall choice. However, internal choice has been provided in 4 


	questions of 4 marks each and 2 questions of six marks each. You have to attempt only 


	one of the alternatives in all such questions.


(iv)	Use of calculator is not permitted. You may ask for logarithmic tables if required.
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